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Section - A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.
Deleting/overwriting is not aliowed. Do not use
lead pericil.

BIOLOGY SSC-li

SECTION - A (Marks 12)
Time allowed: 15 Minutes

Fill the relevant bubble against each question:

Sign. of Candidate

Sign. of Invigilator
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Skin colour of

More mucous

Destruction of patient ig produced in
Which of the following options is related to alveolar wall Lung tissue is becomes air
1. Emphysema? oceurs O filed with pus () purplish O pasiageways
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Select an example of commensalism from Lion and Termite and Sucker fish )
the foliowing Zebra protozoan and shark O Fox and rabbit
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The given diagram is reproductive system of
a male rabbit. Indicate the vas deferens
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Presence of Less number
Which of the following is NOT a Have deep parenchyma Have broad of stomata is
7. characteristic of Xerophyte? roots cells leaves present
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Select the histone_ protein from the diagram
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How many kinds of gametes can be formed
9 by an organism having a genotype BbCc?
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maintain Helps in movement of
10 Which one is NOT the function of inner ear? Balance O Produces wax O hearing O head
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Select the product which can be used for the
production of bread: Lactic acid Glycerol Ethanol Formic acid
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12 Select a drug reducing irritability: Antibiotic Sedative O Analgesic O Vaccine
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Time allowed: 2:45 Hours

o

Total Marks Sections B and C 53

BIOLOGY SSC-lI

NOTE: Answer any eleven parts from section ‘B’ and attempt any two questions from Section ‘C’ on the
separately provided answer book. Write your answer neatly and legibly.
SECTION - B (Marks 33)
Q.2  Answer any ELVEN parts from the following. All parts carry equal marks. (11 x3 =33)

Note:

Q.3

Q.4

(i)
(ii)

Describe the structure and function of larynx.
The given diagram:
(a) Identify the type of cartilage A at the joint.

(b) Describe the characteristic of this cartilage and give example. A
(iii) In which part of nephron selective reabsorption takes place? And how?
(iv) Complete the table:
Hormone Name of Gland .
Q2 (ii)
A Parathormone
B Corticosteroids
Glucagon

(v)

(vi) How is female gametophyte formed in a flowering plant?

In the given diagram:
(a) Label Aand B
(b) What is C? Write down its function also.

(vii) What is meant by an ecological pyramid? Explain by making a pyramid of number.

(vii

(ix) What is meant by the following terms?

i)  Inthe given diagram: Q)
(a) Identify the process in the given diagram
(b) Describe B and C stages.

(a) Heterozygous (b) Genotype
Complete the table:
Drugs Effects
A Sedatives
B Hallucinogens
C Heroin Q2(viii)

Differentiate between transcription and translation.

Xii) Describe the variation showing a wide range of phenotypes. Give examples also translation.
i)  What is meant by genetic engineering? Why do we use a microorganism in genetic engineering?
xiv)  What sort of relationship is present in a food chain? Draw a simple food chain also.

(xv) What are moveable joints? Write their types with examples.

oD

SECTION — C (Marks 20)

Attempt any TWO questions from the following. All questions carry equal marks.
- < i

(2x10=20)

(i) Identify the structure in given diagram (06)
(ii) How they are formed?

(iii) Explain their Structure and function. -

Nitrogen fixation is an important step in the nitrogen cycle. What is meant by Nitrogen (04)
List various ways of Nitrogen fixation.

Describe a bone and explain its regions with the help of a diagram (05)
What is fermentation? Discuss the production of fermented food. (05)
Explain the reflex action with the help of a diagram. (05)
Describe two methods of artificial vegetative propagation, of plants. (05)
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